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Part-1II
GEOGRAPHY
Maximum : 60 Scores
{Map of India to Accompany)

Time : 2 Hours
Cool-off time : 15 Minutes

/ General Instructions to candidates : _ \
® There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2 hrs.
® You are not allowed to write your answers nor to discuss anything with others during
the ‘cool-off time’. '
® Use the ‘cool-off time’ to get familiar with questions and to plan your answers.
® Read questions careful ly before answering.
o All questions are compulsory and only internal choice is allowed.
® When you select a question, all the sub-questions must be answered from the same
question itself.
e (alculations, figures and graphs should be shown in the answer sheet itself.
¢ Malayalam vetsion of the questions is also provided.
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1. To reduce regiohal disparitics “Hill Area Development Programmes” had been launched

in India. Write briefly on it. (Scores 2)

(0GR  @RAVOGIEBUE  LIen®:Elendm | eamEl  MaIWIe  B)aloHd0eMS

“2eIo0 AlG:ANM ARG’ pwandla] 86} allalsMo §@:05)00d:. (nSeaad 2)
2. Classify the following resources on the basis of conservational strategy : (Scores 2)

Forest, Solar energy, Wild animals, Coal

MonaHem @ldle®  @rSIuNIMaldsl  ©oee  eals)ewlgies  allsausanes
@RI L) .

QIMo, TUDERIGEER0, AIMIBLWEEBUY, &T3HHT] (reasad 2)

3. According to Finch & Trewartha human geography may be classified into two broad
sections. Write notes on them. - ' (Scores 2)

adlemyo, (@lGEM@)O 2omailé e;m%roo.m‘imam RaEoYl  mroEildla)).
@RAUNHWEM G o] AlUBE0)D:. (rSeadod 2)

4. Mention four locational factors needed for an industry. (Scores 2)
QULUTVIVEBBRIHS GH{BRH OO TORWIMIENM MO AEISHEIBUS nf)P)W .

{(rSca0@ 2)

5.  Mention the method you can suggest for recharging ground watef in your village and
name any six objectives of such method. (Scores 4)

mlemepes (Wooomlsel B)nde REITVoOSHUEMOTIN 1D DalcoUilonde ?

@MONOM oROMBILN0 @R LIGHLEBU af) P} ' (adeaod 4)
6. Mafch the following : : (Séores 4)
Minerals Uses Distribution
Lead White pigment in paints, paper and plaStic CIS, USA, Mexico
Coal Storage batteries ' China, USA, UK
Bauxite Thermal Power Australia, Guinea, Jamaica
Titanium | Aeroplanes Australia, Norway, CIS
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MIOP HSHIS;OMFBBA GalRYonlS] GaiBI9)d:. (rSeadd 4)
WA DalCWIHNO aflmeemo
el a0l 9aRIGHIMBS HHAUG ). &ng). afav.,
afldeaag’, Galafq, %oq}ﬂ.ﬂ‘; . af)To.af}).,
OB TUICHND ,
CHI3 GIROCOE: anIdQOldUd & alm, ©@). af)TV. ).,
, ' QY. O,
GMNINEOOMG | MOcaIIGDeER0 somicseilw, nimlw,
RONDAD
b Telealipl Lol ng)@'coos)%@'lnaaﬁ aoaveseilw, amadeqy,
' aul. §ag). af)ad,
Identify the countries in which the following types of settlement is found : (Scores 2)
Favelas, Ranchos, Kevettits, Bustee
@IOP  AlOWAM  AUVTVMUNAITHING  GalO)hUd aB®)  EORIEDIOW®IHEMAT
GHOTRATINHVE) )b, ' :
aanallenal, osesmiom’, eaalgigiay, gyl (oSeaad 2)

Values of mmport and export with different countnies are given below. Identify the

Balance of Trade of India with each of them. (Scores 2)
| Countries | Values of exports (in crores) | Values of imiports (in crores)

Brazil 99 ‘ 140

India 2869 1936

Kuwait 1096 860

Germany 184 257

aflailw @O EIBROS ‘ﬁ,m)g;m@'l-@omgmmlmums 2)01EBBIET DOOY

DHIS;ODIAISNMND. DADIWOS  AY2aedlaje WD  EIRIERZOSHROW]

DOVDB YOS IO B>, ' . (rSea»0d 2)

PO Yeu3 Ul SN B}e15o (¢Sl DoNB®! Melyo (6:os)

(el 99 140

Damy 2869 1936

)OO QDT 1096 860

g3 184 257

9. ldentify and draw the longest National nghway in the given map of India. Mark the
following stations along the NH.

Kanyakumari, Madurai, Bangalore, Hyderabad, Nagpur, Varanasi

DMMIQINE  afQalo

miso

(Scores 4)

&SI MINUENB  DOaNCA  aABODTHN)  BOENSOWY],

MING88 DHIWOS SAUISORIEE  AUedLoo)m. GRMIG @oee aNldleaian
TRORIERUT @RSWOIBHA|SITID)dh.

HMIVBAIQ), AW, WS, HOan(BIMIIE, MIFald, MO
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10.

11.

12.

13.

14.

15.

16.

Give the year of the first report on Human Development submitted by UNDP.
Mention the three indicators of Human Development. : (Scores 2)

©).apB.allall.  U2de{ls] ORBIEOD somale aléavm  dleqapds  egoy
adatiamiena’ 2 aomaild: alléauoe @»eMENIHN)IMN@IMSs oan) V) 2 lhea3 LB

af) P9I . (mSedod 2)
Complete the following table based on the information given: - (Scores 2)
Name of approach " View points
Welfare

Environmental control on Human action
Humanism

Man has active role
MNP BBH05)0MIGBB alGld: al)GONIWIE)b:. (avea0d 2)
avalaieEBUd ANHUANEH: IS BB
eaHATValaiMo

(Ald@) MU (PIQIBEMEBOS

Ml }aN] '
riialaplel] PXlc)

AWMy (IS NOQ HIOEDlenM

The Indian demographic history can be divided into four phases. Give a brief account of

" ;hese phases. : (Scores 4)

“eHoy@  RMAVEELY  RITT@aTUDOTD  (alIMAIW]0 MoesreISEEBaow]
®0omBl000.” BOGE CLISEAM®]o @)0lal AIIRBRILS)E:. (Seamod 4)

Foraging and pastural nomadism are considered as primitive forms of primary activity.
Give their differences. (Scores 4)

§anoeogdlan)o, lGICAS}™MU Cc@S] @RAIWIINE)o, ool (aloIdomMEma1as
aRcla ajamoa). M ®ZleRss AyeYOFVEBWE ag ? {meaod 4)

Identify the most convenient mode of transportation for petroleum and natural gas over
long distance. Mention the advantages of this mode of transport. (Scores 2)

G580 (aldh ) TNUIDHON0 3l@nel3)00 DdhHIE) CnldSHIMN@IMIBES
@OMCWIRIDIW NGIND TVDHBY0 aB® ! GO CRMEHUD AfOTNOOBNWIETT ?
(bemad 2)

List out the types of rural settlements found in India. Evaluate them briefly. (Scores 4)
mamyoieel alallmaee (1IB1eM ARTVIUCEISEHE a0la] aferglo)oms. (edod 4)

In developing countries the most noticeable phenomcnon is the emergence of Techno

Polis. Evaluate this phenomenon. _ (Scores 2)
alaauio  0IRLEBEIGE  afQAWido (RALTEONSIAV (AIGTIRITVAOW  HSSBMO-
enlog)@gos apaildgsale afleivioyam)e:. (nSeaad 2)
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17. Identify the four language families of India. Give a brief account of any one of
them. ' (Scores 4)
DAV MILREOAHIS)SIMIAEHS @Al 0lw)d. ago@@lele saTlomen )0l a]
ailwa1e:0len) . (mSca08 4)

18. The following map shows the sex ratio in India during the year 2001. From the map
evaluate the variations of sex ratio. (Scores 3)
®OO®  H®HIS)OMIFIBH MIOIWMOS = [also  2001-ea1  ,ilotndmaomeOT
qu}aflaflaeym). @juSEmNg TLanIVWETMINS LloIIMMEHHNG AyGWOMEIBU
aillerloyom) . ' (niea»ad 3)
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19. The following are figures of age pyramids. Name them according to their shape and

population situation. , (Score 1)
BDOTVRDINS (2 0WRISMHHR TV)alaflonymm allimoe mone BHIS)OM @] sa)T).
ARYDH\BIW)e RMAVAIYD LISMHD®o BN Gal@)dhud MaBo)d. (rea:03 1)

AGE-SEX PYRAMID
85+ . 85+ E ]
7 E 75
65 65
55 |G : 1

% 55 [60 - )

45 45 .

35 33 :
25 25

15 2 15 [0 1
: EEI s |

PRTTTTTTTT ITT
%1008 6 4 2 2 4
MALE FEMALE : MALE FEMALE

20. The following map shows the areas where a tropical crop is cultivated. Identify the crop

and write the geographical requirements for the growth of this crop. Mention the
distribution and production of this crop in India.
BlalSOI0l  ERSWIRNASITIWIGSS (A IGBUWERU3 DO Bysdloalgm 80)
Duigmesield  algwes®oa. ©v  alg  @eaeod] ooloa  agdajdios
ARAKDIBIW BRI @D CRISHBBHBEI)b:. omylod moiend allmesmao
2@ OBMALC QIYEDDIBN)dh.
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Evaluate the characteristics of Subsistence agriculture, Sedentary agriculture and
Commercial agriculture. (Scores 6)
(ad0allmadel  gaimlaimayasdl  (Subsistence Agriculture) audloayasdl (Sedentary

Agriculture) anemlmyeiad) (Commercial Agriculture) agymi®ea LB [ T ST
(IEBY O ROBENOla] alleidloyomys. (rSedod 6)

21. On the basis of output, industries are classified into two. Explain. : (Scores 2)

2T MEBHOS  PaICVIVATD  ERSKILOOM B QUIAUTVIVEBHS  OMOW
ORS00, AllaIG]es ). ‘ (Ue:03 2)
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